a(d cot(B))
S

Y

I
&+

1072

T TTTThT
—_—

1073

E 107
o108 1| 1 .......! Linn o108 1 1 .....! 1 .......! L
= I = I +
[/ oot £XE o EEEES SEREERR 3% e e EEEE AR LD TS 4 B RRREEEE L EEEE
o F | o F

i It i 4 * :

2k I 2k 4FT---- 5.. .......... : ............

—1 2 3 —1
10 1 TPlpg)T (PCA t%obeamlinéf) 10 1
—=— DQM_TT _original_time
—e— DQM_TT _original_time2
—— DQM_TT_modified_time2

=~ 1e _

€ E S

e E o

;? C SO LT e
(o] — ko) E

210 ¢ 5 [

S E r

H
<
N

T

1072

T ||||||! #l

E +

B 10—4 I W
.910—4 1 o 1 nn |! ! L1 |||! 1 ||||||! L
= I = r 3 T
® 4| ® 4 EY O o
o F T o - T+ [

B B ++ |7

I I 1+ T

21 2T bl i ] (b A

1071 107 1

2 3
TPl[g)T (PCA f%)obeamlinép

T T TTTIT
n

—
e

E ¥
+ .
10_4 E_ """""" B S il Sl
o : '
+— B -
© 4 EEEE EF H X EERY TEEEE PR R T PR
x [ % 44 ¢+
21 #+ IR 1 S SRR [ R E oL EEEE T TR

1

[y
o
I8

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


